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oboooobOoboooboob booooboboooboboooobOobooobooboooobobooooboon
00000000 (000000000000 eavesdrop J00)000000OO0OO0OOOOOOOOOO
ooooo

(1) 0000000 secured route (00000 0)000000000O0O0O0O0OOOOOOOOOOOO
00 KOoOooOooooooobooboooooooooboooo

(2 0000000 KOOOOOOOOOoDOOoOooo

(3 00000000 0UCOO0OOUOOOODUODOOOOO

0000000 (1) 00oooo0ooO0o0ooO0O0oOO0o0oOOO0UOO(2)ooooooooooooo
00 KOOUOOOOOOUOOO@3) Ooooooooooooooooooouoooooooooooo
goooooboooo obobo ooooboboboooboo
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4.3 0OOOOO

00000O00O00O000O000oO0000000oUOo00O0O0O0ObOO0OOUOOoOOOoOoOO
0000000000000 00000000C00O0OAESO3DESO MDsO0O0O0O0opooooooooo
0000DOO00OO00ooDoO0o00oooooOg «SS” 0 “TLS” 000000000 o0o0ooooooasSsSL O
Secured Socket Layerd TSL O Transport Layer Security 00 0000000000000 OOOCOO
ooo

000000000000 00000000000000o0000D0oOOo0o0DUoooOooooooO
gooooooboooboobboobbootbodddooobbb bbb oo
0000000000000 00000000000000000 securedroute 000000000 OO
O00000000000000000000000 (public key cryptography) D0 O 00000000
000000000 1974 0000000000000000 (Martin E. Hellman) 0000000000
(Whitefield Diffie) 0000 O (Rolph Merkle) 000 000000000000

4.3.1 0O0OUOOOoOOO

0000000 1000 (Eo, Do)00001000 EoOOOOOODOOOOUODOOOOOODO (OO
0000000000 PKI(public key initiative) 0000000000000 0O00OO0)0000O0OO
ooopPKIDOOODOODODOODODOODOODOOODOOODOOOOOOOOOODOOODODOO 1000 Do
bbooboboooboobooooboboooooboooo

gbooaod

obooboooooboobooooooobooboobobooboobooobooboooobooon
gooooooo

() 0000000000 EbOOODODOOOUOOOOOODOOOUDOOOOOOOOOO
obooooobooooobooboobooboobooboooboooooobooboooboooon
ooooboooo

(2) 0000000000000 OOO0O0O EbOOOOOODOOOOOOO

(3 00000000 D0O00O0DO0OUO0O0OUD EbOOODDOOOODOOUOD

(4 00000000000 DbOOOOOOOOOOOO

gboaoboaboogboobobbooboobooboobooobobboobooboanoaa

gooood

gbgboboboboooobboboboboooooooboobobbobobobobooooa
gboooooooooboooooobOobooboooOon0 boOODOOUODODOODODODODOOOOOO
gooooobooog
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() 0000000000 balO0OOUOOOOOOUOODOOOOODOOOOO
(2) D0O00D0OU00O0O0OO0 Ea00O0ODOO0OU0DOOOODOOOD Ea00OD0OUOOOOODOOODOOOOOO
ubobooboboooboobooooboobooooobooon

gboboobOoboooooboboooboboooooboooobobooooOoooon

obooooobooog
uboobaooobbooobobobooboobobouobobooboobooboooobooooba

(1) 0000000000 (Ea, Da)0000000000 (Eb, Db) D000

(2) 0000000000 Da0000000000000000O000000000000
(3) 0000000D000000D00000 EbOOOOOODOOOO

(4 000000000000000000000 DbOOOOOOODO

(5) 000000000000 Ea0O0D0000

gboboobgboboboooboouoboboboooooooobobobobobobooooban
O0OO0O0OEa, EbO0 2000000000000 0ODO00OOO0OOODOOOOODOODO

4.4 UO0O0O0OOOO

4.4.1 0OO0OOOOOO

oboboooocoooooooooboobooboboboboooboOobo20000000000000
000000000000 000o0o0000o000U0o0o0ULO0DOo0DO00O0D (booooo)o
gboooboooooobooog

00 183 a=b (mod p) <> pla—b (a—b0 pO000000)«<a=b+pg000000 ¢qOO0O
“%=b(modp)”0 OpODO000 «0 bOOODODDDOOOD

goooogo

mod 6 OO0
+10 1 2 3 4 5 x|0 1 2 3 4 5
0j{o0 1 2 3 4 5 0jo0o 0 0 0 0 O
171 2 3 4 5 0 170 1 2 3 4 5
212 3 4 5 0 1 210 2 4 0 2 4
313 4 5 0 1 2 310 3 0 3 0 3
414 5 0 1 2 3 410 4 2 0 4 2
515 0 1 2 3 4 510 5 4 3 2 1

—1=5 (mod 6), —2=4 (mod 4), —3 =3 (mod 6), —4 =2 (mod 6), —5=1 (mod 6)
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mod 7 000
+/0 1 2 3 4 5 6 x|0 1 2 3 4 5 6
00 1 2 3 4 5 6 0{0 0 0O O O 0 O
1171 2 3 4 5 6 0 170 1 2 3 4 5 6
212 3 4 5 6 0 1 210 2 4 6 1 3 5
313 4 5 6 0 1 2 310 3 6 2 5 1 4
414 5 6 0 1 2 3 410 4 1 5 2 6 3
5|/!5 6 0 1 2 3 4 5/0 5 3 1 6 4 2
6|6 0 1 2 3 4 5 60 6 5 4 3 2 1
—1=6 (mod 7), —2=5 (mod 7), % =4 (mod 7), % =5 (mod 7)

Ul s 000oo0obobooooobooooboon

(1) a=b (mod ¢) D000 cO0000 atc=b+tc (mod q), axc=bxc (mod p)
(2) 000 a=b (modp), c=d (mod p) 0000 ate=b+d (mod p), axec=bxd (mod p)
(3) 00000 a,b,k0000 b=a+k (modp) <= a=b—k (mod p)

0000000000000 000000000 mod600002x2=2x5=4 (mod6) 00000
Oo00oo0oO0o0o0o0ooOb0o0oD, mdr7O0O0O0ODOOO0O0ODOOOODOOOODOOOODOOOO

O0 6 p0000000ab=0 (modp) (eb0 pO00)0000a=0 (modp) 000 b=0 (mod p)
gogoooo

00 00000000000000000 «,b000 pO0000000p000000 ¢,b0000 p
00000000000Oah+pg=1000000 h,qO0OOOO0O00000000000 ah=1-pq0
000 ah=1 (mod p)D0O0D000 b0000 bk=1 (modp) 00000 kOO0ODO0OODDOO
(ab)(hk)=1 (mod p)0 0000000000

00 14
(1) a=b (mod p) 100 0a,b0 p0 000000000000
(2) 00 Z,={0,1,2,...,p—1}00p00000000000

(3) pO00000D00O0O0ODOOUOOOOUOp=100000000000000000000O0 «0O0OO
a+b=0(mod p) J000O0DO KOO0 pOUIODO «O0O0OOODOO

4 pO0O000D00O0OO0 Z, 0 =0000000000000000000O000O00OO0OOO0O0
oobbdpbOOobbOOO0 Z,0000000Z, 0000000000 Z, 0000

(5) p000O00,9€Z, 0 {g,6%...,g?"'}=2; 00000 ¢00000000000000000

(6) Z, 0000 ¢gO 1000000eeZ, 0000 ¢g'=a (modp) 000 ¢t000D000DODO
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0 p=29,9g=180000g,¢%¢%...,9®020000000000018,5,3,25,15,9,17, 16,27, 22, 19,
23,8,28,11,24,26,4,14,20,12,13,2,7,10,6,21,1 0000180 2900 000000000000000
0000 p00000000000000000000000000000000 g,¢%...,¢°- 1000
O0000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000

ooooood

00 15 (00000) p00000000<a<pO0O0O000D0OO0O «0OODO

a? ' =1 (mod p)

ugb 100 p—-10000000DODOL2,...,p—10000e¢D pOODODODODODOODOOO
00 ,2,3,...,(p—1)e 0000000000000 0dia=ja (modp) 00000D00D0 (i—j)a=0
(mod p)0e 0 pO0000O00O0O0OOOUOOO ¢—5 0 p000000000000000O0S4—35<p
00 i=;j00000000004,2¢,3a,...,(p—1)a0 pO000000000 1,2,3,...,(p—1) 000
0000000000000 (p—1)=(p-1)! (medp)D 0000 (p—1)0 p000000000
a?~t' =1 (mod p)

o1

r=1 (modp—1) 000 a" =a (modp)

00 r=1(modp—-1)000000 mO00 r=1+m(p—1)00000000000000000
000000000000000 o =atP=Y = g(a?~1)™ = a (mod p)

442 200000000000

2000000000000000000000000000000 1000000000000000
000 32000,64000000000000000000000000032000000000000
0022 00000000032000000000000000000000000000000000
220000000000000000000000000

0202000000320000000022—,000000000000000000000000
000000320000000000000020000000000,100000000 20000x
0200000000000 1000002+2=22—-100000242+1=2%2=0 (mod 232)00
00000000 Z4+1=-2 (mod 222)0000200000000000 410000-200000 32
000000064 000000000000000000000000000000000000000
00000000000320000000 23 00000000000000000000000000
0000000000 320000000023 -10000320000010000000000000
0O0ooooo
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4.5 0OOOOO

4.5.1 00000000

goboooboboooboooogooooooboooboooooboboobooboooobboooDoOoO
bobooboobooooboobooboobooooboooooboaon

0000oo0ooooo (m,p)U00000O0 sO0000O0O0O0O0OO0 «O000O0OOO0OOODOOOO
ooooo

b=ma+s (mod p)

m=10000000000000000000000000000 p=260000
000 pmO0000000000 pg+mn=1000000 ¢n00000000 0000

nb—s)=a (mod p)

0000000000000000000b—s=ma (modp)J000 nO00000 n(b—s) = mna
(mod p)D 0000000000 mn=1—-p¢g0 0000000 nb—s)=(1-pg)a=a (mod p).

googbooobob m,sOO00ObOO0O0O20000000000L0O0DOODOODOODOODOO
oobooboboooboboooboobotboobbooobDbobO bbb bbb boob Do
googoboboobobooobuooobooobboobobboobbuooobobobbboobboo
goo

4.5.2 0OO0O0O0OO0
gbooobooogo

gboooobooboboooooooboboooooobOobobooooobOonooboboooon
00000000000000000000000000O0U00D0U0O0000y=f(x)DO0D0OOOO
goboooobooooooobooboooobbooboooooooobooobooobbooboboboobboobobOoD
gboboobouoboboboooooboboobooboobooooooboboboo0ob0 ybO 20000
gboooooboobobooooboobooboboooobobobyOobcOOO0OO0OOODOODODOOO
obobooooooooooooooooobobobooboboboobooobooooboooooonoo
oooobooboooooboon

0000000 (oooooo)
0000000000000 0000O00O0000 (ElGamal)DOOOOOOO

1. 000 p0000000¢0000000s00000 (000)000Ah=g¢° (modp)000000
(p,g,h) 00000000

2. 0000 0000 (00000000000)k00000m (m<p)000000000a = g~
(mod p),b=mh* (mod p) 00000 (¢,) 000000000000
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3. 000 a® (mod p), b/a® (mod p) 00D 00b/a®*=m (modp) 0000000

000000a® = (g%)° = (¢°)F =h* (mod p)DO OO Ob/a® =mh*/hF =m (mod p). 00O O0Z, O

googoobbbboooooooo
oboooobooobooobooboobbooboooboooboobooooooooboobooon

oboboobOoboooooboooobooboooobooooobooboooog

4.5.3 RSA O0OOOO

0000000000000 o00o0oooMIT(D0OODOO00000000)00000 (Rivest)DOO
000 (Shamir)D 00000 (Adleman) 00000001977 00000000 RSAOOOOOOOO
OoRSAOOOOOOO0O0OQOOOOOOOOOOOOOOOOOOOOODOOOOOOOOOOOOOO
goooOoOoOoOoOOODOODOOOOOODOOOOOOOORSAOOOOOOOOOOOOOOOOOO

RSAOODOOOOOO

(el) 20000 p,q 00000 (00)0n0 n=pg0000

(€2) 000D rO0 p-1, ¢q—100000000 (0D0)O

(€3) (n,r) 000O0DDOODO

(e4) DO0DOU0DOOOODOOOODOOOOOOOOD nOUOOOOOUODOUODODUOODOO mOOOO
OO0e=m" (modn) 00OO0DOOO

RSA O00OOOO
gooboboodo sggboobooo
k) rO0p—-1,¢q—10000000000000OO0OOOEee, f,g,h000000
re+(p—1)f =1 (4.1)
rg+(¢g—1Dh =1 (4.2)
(k2) 00000000000 r(e—g)=—(p—1)f+ (g — 1)h.
GCD(p—-1,¢—1)=d00000rd0000000000e—-g0 d000O0O0OOO
O000D00Oe—-gO0d000000DO0O0ODOODOODODODO z,yODOODOO
e—g=z(p—1)+ylg—1)
(k3) D000 U0DDO0O0DO0OO0OO0O sODOOD
s =e—xz(p—1) (4.3)
=g+ylg—1) (4.4)

000sO000000000O0D00O0OO0OO0O (p—1),(¢—1)0000000000OOCOOOOO sO
goo
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O0000000000000 (modn)00000000O0OOM=a (modn)0000O0O00O0OO

rs =re—ra(p-—1)=1-(p-1)f-ra(p-1)=1-(f —rz)(p

1)=1 (modp-—1)
rs =rg—rylg—1)=1-(¢—Dh—ry(g—1) =1~ (h—ry)(q 1

1) (mod g — 1)

000000 s0000 (4.3),(44)000000 re00 (4.1), (4.2) 00000000000000000
00001500100

T8

a™ =a (mod p)

a™ =a (mod q)

000 =a"=a+pp =a+q¢. 000 pp'=¢q¢ 0 p,q 000000000 p0 ¢qOOOOOOO
¢ 0 p00000000 pp =0 (modn) 00000V =a®=a (modn)0000

RSA DODOOOODO

oobOoobooooobooobbooooboooboboooooobooobooobooboobooooooon
gooobooobooboobooodn0OO0bO0OoOO0bOOO0ODbDObOOODbDOODODObOODODObOOOD
OO0O00ORSAOOOOOOOOOOOOOOOOO0O0O000000000000000 1290000

1143816257 5788886766 9235779976 1466120102 1829672124 2362562561 8429357069 3524573389
7830597123 5639587050 5989907514 7599290026 879543541

gbo2000000000000000000000000O0O00O00OCOOOOOOOOOOOOO0D0
obooboobooobooboooodooooooooecooboooooobooobooboooaon
OO0 80ofdooo0fiooo0ooo0oooooooOo0oDoOoOoO sUUODOOO0ORSADOO
ooooOo0O0O0O0OOOOO0OO0OO0000000000000000000000OCO0OCOOOO0O0O0 RSA
000000000000000000000000 1024000 (211000000 3000)00000
obooooob 496 000000000000000OO0
gbooooooooooooooooooboooooooooooooooDooDooboooDobDOobDOoDo
gobooboobobooooooboooboobboooooooobooooboooboooboooobooDbo
OO00000D00O0DOO0O0000D0D0OD securedroute 0000000000 ODOOOOCOOOOO
gbooobobooobooboboooboboboooboobooooon

oooooooo

RSAOOOOOODOOOOOOODOOO0ODODOOOOOODOOOODOOO0ODOOOOO 1000 3000
boboooocoooobooooooboobooboboboboboboooobooooboooboooboonog
obooobobooooobooog
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oood

U00znOOO0OO0OD0O L"000000

oooooon
i.n0200000000n=dp2"+dp_1281+.--+d12+dy. 0000 d;,=0000 1.
ii. :cO:x,:cl:a:g:x2,x2:xf:z22,...,:ci+1:xf:xwﬂ,...xk:xiqzxzk[IDEII:ID
i, " = pW2 k12T e di 24do xi’“ X xi’i’f X oo X x‘lil X xgo

0000d;=0000 100000 d;,=100000000 2" =2 xz;xx; x... 0000

0 3¥000ooo
i 27-16=11,11-8=3,3—-2=1. 00000 27T =16+8+2+ 1.
ii. 31 =3,32 =9, 31 =92 =81, 3% =812 = 6561, 3'6 = 65612 = 43046721
iii. 33° = 316 x 38 x 32 x 3! = 43046721 x 6561 x 9 x 3 = 7625597484987

obobobooooooo2000000 100002r000000C0CO000O0OO0O0OO0n0O00000
OO00o00O0oO00o0ooooOoooooooDooooooDoooDooOno 3xlogynO0oooooon
220 _10000000000000000200000002r0000000000000000 2000
gbeo00b0OobOOoOoOOobOObOOOOO 100000000DbOO000O0

RSAOOOO

OO0 RSAOOOOOOODOOOO

) p=11,g=13,n =11 x 13 = 143

) p—1=10,q—1=12000 r=70000

) (143,7) 00000000

ed) 000 a=5000000000b=a"=>5" =78125=47 (mod 143) 0 470000

oooooooo

(k1) Txe+10x f=Txg+12xh=10000000 e=3,f=-2,g="T,h=—4.

(k2) e—g=-4=2x10+yx 120000000 2 =2,y =—20

(k3) 0000000000 s=e—a(p—1)=3-2x10=7+(-2)x12=-170000000000
0000000000000010,12000000 600000 s=43000.

0000 b=47000000000 »°* =4780000 mod 1430000000000000000O0
000000000000 00000 mod 1430000000

i. 43=324+8+42+1
il b2 = 472 = 64, 0% = 642 = 92,0 = 922 = 27,16 = 272 = 14, 5% = 142 = 53
i, a =47 =12 x B x 2 x bl =53 x27Tx 64 x47=64x47T=5

gboooboogsbgooogn
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50 bootdbootd

oboooboooboooboooboobboobooobooooooobooooooobooboobooboon
oobooooboooboooboobooboboobobooooboooooooooobooboobooooboooon
gooooooboboooogoobobooooboooboboboboobDOo 200000bO0bOOO0OOODODbDOO
uboboobooboooboobboooobooooboobooooboboooooboooboOonbOobn

5.1 JUOoon

gboooboooobooboooooao

5.1.1 30000000
JOo0ooooboooooobooon

00 16 (Cardano) 30000 22 =3pz+2¢ 000

a=\lqg+ VP -p* B=\lq-VF—-p* 000D

a+ 6, wa+w?B, wa+ws good

i

0000w 22=10 100000 w=

00 00 :2=2+y0000000000000000000
(z+y)® =3zy(z +y) + (2° + %) =3p(z +y) + 2¢

0000002 =234+%% p=2y 0000000

000X =23 Y=9y300000X+Y=2¢, XY =p30000

0000000X =q++/¢2—p3 0000

00 =X =q++/@2-p?00000a={q+/@-pP 0000 z=0q, wa, w>a 0000
DDDDDyz%DDDDDDDDDDD

00030000 ar®+ba?+cx+d=0(#0)0000 z=2+b/(3¢) 000000000000
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5.1.2 40000000
40000000000C0O00O000O0

00 17 (Ferrari) 40000 2*+p22+¢z+r=000000000 20000000
000 &E—-pf—4ré+Upr—¢?)=0 000 100¢ 0000000 200200000000
ooooo

S 5‘”9(2‘ 2(§0qp)> +§ =0

00 D000 2000000000000000
A4pPt+qge+r=0:2+az+08)(:*-az++)000000000000000O0OOOOO

Bty—a? =
a(y=p) =
By =
00000 «200000000 p+ae?2=¢ 0000
2 2
2000000 (F-7P=(F+7) -4y =€ ~4r= 5=

0000000000 & —p—4ré+ (dpr—¢?)=0 0000

00000000100 &0000 a=+V&%—p, B+7=E(, v—B=
3, vO000D0DDO0O0O00OD «000000000000000

O

o I

00040000 art+ba®+cx?+dr+e=0 (a#0) O0000O0z==xz+b/(4e) OOOOOODO
ooooo

5.1.3 "= U0

0018 z"=1 00O
2 2
w=cos L {isint 0000 w «? ...,w"=1 0000
n n

00 19 z"=«a 000 a=r(cosf+ising) 0000

0 0
X:{’/?(cos—}—isin) oogg  x, yw, xw?,..., xw" ' 0000
n n

5.1.4 00000

00 20 (Abel, Galois) n 0 5000000000 000000000C0O0O0OOOOO

boooboooboobooooboooboobooboonoooboobooobooboooobobboooboOoobooo
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5.2 [

5.2.1 00O

obooo0ooboodbOgrouwp DOODOOODODOODOODOODOODOODODDOODOODO
goboooboooobooooboobobobooobooobooooooobooobooobooooobooon
obobooooobOobobobooooooboobobobooooooooobOobOob0DnDoboomo
oboooooDobooooboooobooobbooobooooooooobooobooobooooobooboon
ooooooboooooooboon

oboooooobooboboooboooboooooobooooboboobooooboOooboooon
oboooboooboooobooob vyooboooooooooooboooboooooooboooan
gooooooogoon

gbooooooobooooooooooobooooobooboobooboobobobOobobobOonbo
boboooboobooobooooooooooobooooooooooboboboboboboboboon
oboooboobooobooboooooobooooooooooooboooobobooobooboooooboon
goooooboooooboon

5.2.2 0JOOOO
gooooooo

0000000000000000O0 (Doo0)bo00U00o0o00o00oO0000o0ooUoooooo
oood H, 0000000000000 0000

(1) D0OODUOOO0O0OOOOOOo9ee, 180°, 270°, 360° DO OOOO
(2) 000000000000 UCOO0OO0O0O0O0 200000000000 20000
(3 0000000000000 O00D00O00O00UDO0O0ODO 200000000 20000

gooooooooo 20 f,g000000000000O0 gofOOOOOOOODODOOOO

OO00DbOf=90°0000000¢g=0000000000000gof=000000000000O

gbooboooooooooooboooooooooboooooooooooboooobOobOobOobOoDbo
gbobooboboooobooboooog

(1) 90° 000000000001 -»2-3—-4—10000000000 (1,2,3,4) 000000
000
180° 00000000001 —-3—-1,2—-4—-2000000000000000000000 2
0000000(1,3)(2,4) 0000
270° 000000 (1,4,3,2) 00000000000000 90° 00000000000000
360° 0000000000000000000000000000000000000000000
010000000000000000000 E0O0OODOOOOO

(2) 0000000000 (1,2)(3,4), (1,4)(2,3) 0200000
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(3) 0000000000 (1)(3)(2,4), (1,3)(2)(4) 0 2000000000000 1,30000000
00000000000000000000000000000000000000 200000
(2,4), (1,3) 0000

Jodopoooooeecoonooodoooonooooooooooono
(1,2)(3,4) 0 (1,2,3,4) = (1)(2,4)(3) = (2,4)

0000000000000000000000000000 E0O0OO (1,2)(3,4)0(1,2)(3,4)=E O
0000000000000 2000000000000000000000000000000000
0oooooo

goooo

gbooobOobooooobooooooboooooono

000 nxnO00000000000O0000O00O0()DOOODOOOODOO0OO0OOOO0O0O00OO(2)0
000000000000 @) 000000000000 UDooo

obooooooboobobooobooobooooooboooooobooboOooobooboooobooon
ooooooooo

gboobobooooobooboboboboobooobooooboboboboboboobobobo
gbooooobooog

(1) 0000000 GL(n,R) (00000000)IGL(n,C) (000000D000)

(2) 00000000 |AB|=|A||B|000000000000000 100000000000000
000000 SL(n,R) 000 SL(n,C).

(3) 000000 100000000000000000000000000000000000000
SL(n,Z) 0000

(4) 000000 O(rIOOOD0D00000 Un).

goo

000o0o0o0ooooooooo 9={1,2,...,n} 00 QUOOOOOOOOOOOOOCOOOOOO
00000000 ()OooooooooUoooooooooooo(()ooooooooooooooE)o
gboooboobooboobobooboobooboobooobooboboobo

0000 nO00O00O(COO)OODOOOS, 0000000

5.2.3 UU0O0OOOOOOOO

OO0 1500 GOO0O0O 2000 ¢, 000 eobOOOOOOOOOOOOOOOOOOOOOO0 G
obooooOobooooobooooo

(1) 000 3000 a,b,c0000 (aob)oc=ao(boc)00000(00D0D0)
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(2) GUOOOOUOO e000 ace=e0ca=¢ 0000000000000 O0O0O0OO)
(3 GOUOOOO ¢000 aog=goa=e0000 GUDO ¢g000000¢g0 «00000eO0OO
O0000e'0000

00 16 2000 G,HOOOOOO ¢:G—~HOOODOOOOOOOOOOOOOGOOOO 200
0 a,b00000¢(aob)=¢(a)o’ ¢(b) 0000000¢0000000000000000000O @
00000000000 HOODOOOOoOo

0 000000000000000000000 H,O0O00O0O000000000000000000
O00H,00 {1,2,3,4} 000000000 S 00000000000

0000000000000 (1,1),(-1,1),(-1,-1),(1,-1) 0000090° 00000000 (1,1) —
(-1,1) — (-1,-1) - (1,-1) = (1,1) 00000000

()

ooooooboooooon

(1’3)(2,4)_><_01 _01> (1,4,3,2)_><_01 é) (1,2)(3,4)_><_01 ?)

(1,4)(2,3) — <é fg) . (2,4) — (? é), (1,3) — (_?1 ;:) ., E—DOD0DO

000000000000000000000000000000000000
000000 (1,2)(3,4)0(1,2,3,4) = (2,4) 0000

66

obooooOooboooooobooon
gboaboooboogbgoboobooobobbobbobooon
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